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15800000 RQutwqut uubnuipbpp uu X X X 42,0
15897200 Utiunh dwupng/snp utitinh thwpkp |UU hwuwn 7000 6 42,0
.09100000 Jwnbijhp uu X X X 17
.09134200 nhqbjwjhu Jwnbijhp uu thunp 390 300 17,0
@npk jud vnjupupnph
qpubgudwinjuiikp, hwojundwl gppkp,
22800000 b ik s, Airtuare i Y agdetig Uu X X X 8,5
gqpEtwlwh yhwunyphbph wy yupuquikp
22811100/1 Swph$hluwghw Uy hww  |1000 6 6,0
228200001  |Uauunutipuihl wuydwtiugnn b uu b 500 5 25
hwybdwdubtp
quimqub gpumukbjuljuyhb
30190000 auppanjnpmudikp b bppkp uu X X X 41,5
30192160 Tunphpuibip T hwn 200 10 2,0
30197622 fFnine A4 dnpdwwn /21x29.7/ Uu wntth 1500 15 22,5
30197231 Puijl Uu wnih 650 8 52
30192128 9phs gbjuht uu hwn 150 6 0,9
30197331 nuiljhs tk6 uu hwin 2500 1 2,5
30192750 Dindwuintipttph hwywpwént uu wnnith 1500 3 4,5
30192770 wwuwnhh, nnwhny uu winuh 1300 3 3,9
34920000 Swhwywphught vwppudnpoudakp (VU X X X 3,8
34921440 wnpudwb uu hwwn 1900 2 3,8
Junhwingujhh vwpptp, ntught
b Ebgunuyht hpkp
92200 3,8
2 00 b hwipught ubinh uu X X X
juquuibpydwbh hymphp
39224331 hunnuyy .qnuy junquitmyng uu hwwn 3800 1 3,8
19640000 A e e s vu X X X 0,1
vjupl
19641000 ghndu uu hwwn 50 1 0,1
39830000 Jwpnnn wpwnunpuiiip Uu X X X 0,5




39831244 hhnmy odwn Uu hwn 480 1 0,5
18420000 hwgniunh wupwuqubkp X X X 0,2
18421130 Alnting nnhik hwwn 170 1 0,2
44420000 phtuwpuipntpyul dt v X X X 01
oquuuignpdiny wypuibiplikp
44423600 Jupynit duwukl Ul hwwn 50 1 0,1
Cumnwmpmibhikp
dwppiub b vwuhwwputhhghkuhly 6.0
90900000 S il X X X 36,
90921200 Uhnnuwhwinui(grunnhqughw) npud 3000 12 36,0
wnph b punhnbbbph hkn juujws 0
90500000 Sy fEkn X X X 5,
90511150 wnph hnjuunpiub Swnwmpynibbbp wihu 420 12 5,0
79100000 Ppuwjwpwbwlwh Swpwjnipinit X X X 6,0
79131300 Eykig . wnnpugnipnii npwd {3000 1 3,0
phqiku b junwjupdwi
79400000 junphppuwnynipimi b X X X 30,0
hwpwihg Swrwynmpnihubp
hwupwhts hwwnywsh
]
79411120 hmipusib gt husg s i npwd (30000 (1 30,0
unnwnupunubph htn Yuwyywsd
funphppunyjuljwt Swnunipynit
LbEyupubuinipjub puphdub
65300000 b npw bt X X X 60,0
Sununipinibhbkp
65310000 EjEjupujubnipywmb pusfunud uJys 46.20 1298,7013 60,0
phgwukip 354,4




